| S.S.C. PUBLIC EXAMINATIONS MARCH - 201‘1
MATHEMATICS - Paper - Il 16E(A)

(Engliéh Version)

Time : 2 Hours Parts A andB Maximum Marks : 50
. Time: 2 Hours ~ PartA T Marks: 35
| | SECTION - 1 (Marks 5 x2 = 10)

L 1. Answer Any FIVE (5) questions, choosing atleast TWO (2) from each of the follow ing two groups, A & B.
2. Each question carries 2 marks.

_ Group-A
1A tangent to a circle is perpendlcular to thc radius through the point of contact.

Prove.

2. 1fA=(4,2);B=(1, y)and AB =5, ﬁnd'th_e possible values of y.

3. Find the area of the triangle whose vertices are (9, ~9), (8, =2) and (1, -3).

- 4. The mean of marks secured by 50 students is 80. On verification of data, it was

found that the marks of one student were shown as '73 instead of 37 Find the
con'ect mean.

, Gro'up-B
5. Ifcas © =_?, then find the value of 4 Siﬂz 0 + taito.
2 4 =31 ' :

6. IfA= % sh B= s 7 ,findthefaluepf2A+5B.; _
_. 1. What are the types of operations a Computer can perform?

8. State the language that are usd in Computers. : '

| SECTION-II " (Marks 4x1=4)
1. 'Answer ANY FOUR of the following SIX questions. 2. Each question cmies 1 mark.

- 9.-State "Alternate segment theorem.”

10. Find the slope of the line which is. parallel to the line 3x — 2y +1=0.
11. Find the value of cos0° + sin90° + /2 sin 45°,
~12. Find the mode when median is 125.6 and mean is 128.

13. Define the Algorithm.

- Rk -4 )
14, If s d_2 4'.ﬂ1enﬁndthevalueofd; _
SECTION - 111 - (Marks4x4=16)
1 AquANYFOURmmom.Mngaﬂust TWO from each group. 2.Eachquestmncames4mrks
Group-A

15. State and prove Pythagoras theorem.

16. Find the equation of the line which passes through the point (1, -6) and whose
prodect of the mtercepts on the co-ordinate axesis 1.

17. Show that the points A(1, 2), B(-3, 4) and C(? ~1) are collinear and find the
ratio in which 'A’ divides BC.
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18- Find the mean of the following frequency distribution.

Class -Interval | 25-31 | 31-37 | 37-43 | 43-49 | 49-556 | 55-61
Frequency | 20 | 12 16 | 10 4 3
R ' Group B o '

[
LW
%

: | S
19.71f sec A + tan A = x, then show that ;,—_Hl =sinA.

20.1fA=[" * ®land 1= : M] thenshowthatA~—(a+d)A (be —ad) L

21. Solve the follomng by using Matrix Inverse method : ax +by +¢,=0;ax + b Y+C, =0
22. Write an Al gonthm and draw a Flow Chart to plck the ]argcst of the three given -
numbers 4
ECTION-1IV R (Marks1x5=5)_
1. AnswerANY ONE of the following quesuous 2.The Question carries. 5 marks.
- 23. Construct a triangle ABC, in which BC=5 cm., £ZA=70° and median AD through :
Ais3.5cm.
24. The upper part of a tree, broken by wind in two parts makes an angle of 30° with
the ground. The top of the tree touches the ground at a distarice of 20 metres from
the foot of the tree. Find the helght of the tree before it was broken. :

'Mathematics - Paper - II
_ English Version ’

Time : 30 Minutes . Part-B . Marks 15

Note: 1. Answer all the Questions. Each question carries lmark 2. Answers are to be written in the quesuon
paper only 3. Marks will not be given for over wntten rewnung or erased answers.

I. Write the ‘CAPITAL LETTER’ showing the correct answer for the following Ques-
tions in the brackets provided against them

- 1. The Mode of a classified datais . ' () |
S-f) f=£)C
DL+ Gep B)L+2f =(h- £
. A . ' A;
7 C) L+ (A1+A2)C ) : D) L+ (A.fAz)C
2. I8 is eiminated from x = sec@ + tan@, y = sec 0 tan , then the relationi - ) -
Ayxy=1 . . Byx+y=1 L Oxi-yi=1 Dx-y=1
3.120°= ____radians. ‘ «
31: ‘ 2r : 3n T
Ay — B) e C) - D)_: ‘
: 4 The slope of l'.he line perpendlcular to Sx 2y + 3 - 0 is ( )
A) > - pi o-2 D) -2
7,)2 )5 . 97 )75
5. Large scale integrated circuits are used in __ generation computers.  ( )
. A) Second B) First " C) Fourth D) Third
6. If sec © + tan 8 = m, then the value of sed® - tan O willbe ( )
1 m | |
A — . B) 5 O -m | D) m+1
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7. The following are present in Histogram ___...__ . . ( )

A) Rectangles ~ B)Triangles C) Rhombus D) Sectors
o [3 0 : . S
8 IfA= [0 A] is a scalar matrix, then the value of A is ___ ... _ ) - )
1

A) 3 B)1 O3 D)O

9. The mathematician who introduced Analytical Geometry is______ e )
A) Newton ' B) 1.).Silvester " C)Crammer D) Rene Decartes
x 5 ' ' .

* 10. If [5 : x:l does not have multiplicative inverse, then x = , ( )

A6 | B)S " 010 D) 25

L Fdl in the blanks with suitable answers.
" 11. The distance between origin and the point (x, y) is
12. If two ¢ircles are touching mtcmally, then the number of common tangents drawn
are
13. sin 420" =
14. State Basic Proportionality theorem

‘ secd tan@
15 1tane sec!=

16. The intercept fonn of aline is

17. The AM.of 3,5,9,x,11is 7; thenthe valueof X=
18. In a Computer, the information will be stored in
19. Formula used to find median of a Grouped data is -
20. The point of concurrency of altitudes of a triangle is called

III Find the correct answer for the questwns given under Group A selecting them from Group,
B and write the indicating letter in the given brackets. :

- i) Group A : - ?K‘B’ P AB;:ute angle
21. The point equidistant from vertices of atriangleis - ( ) (@)
22. 60° angle is called ... “( )y © Sl_OPC-mlﬂ'GCPl
23. The range of First 15 patural numbersis._...... (¢ ) g)) f;mmmm
24. The mode of 21, 16, 21, 18, 14,21, 18 is .......... . C ) @® 2
25. y =mx 4+ ciscalled .......... form. ( ) (G Centroid
(H) Imcrcept
G Group A : ‘ (I();roug 52
26. Angle in a semi-circle .. - ) ) Hardware
27. If sinA = cosA= 3%, then ZA = : B ) K) %°
- : ' (L} Transistors
28 If A x [l '.] =(1 2), then order of i§ ... - () M) Ix2
02 : : ™) 45°.
29. The three organs in a Computer together constitute ... ( Y (0) Vacuum tbes
30. Second Generation Computer c.onsists. [+) S { ) :
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